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Participant Name:

Test Center Name:

Test Date: 19/05/2016
Test Time: 3:00 PM - 5:00 PM
Subject: COMPUTER OPERATOR GRADE A

Section : General knowledge

Q1 g T depf AR I & gde FeaRiEa ol @ s sEey wfrae & §2
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Ans X1E53ﬁTC
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Question ID :99700213
Chosen Option : 4

Q.2 zew weur & et f & 3R agET @ 9g 3w e A F HAT 4 7

Ans X1 gSP
X 2 DIG
X s @famw SP
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Question ID :99700226
Chosen Option : 3
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afeeT F e g o A &2

Ans X 1. SgIgT AME FTHT
Vo HFET
X o sierem
K4 ST

Question ID :9970029
Chosen Option : 2

Q4 T=ffEs § ¥ #i9 F e A # 309 v g0 7 i wee § R 9 a1 e §7
X 1. ST

X 2. FrE|eT

v 3 FRY

X 4 ghaex

Ans

Question ID :99700240
Chosen Option : 3

°'5ﬂg'm’fa7rm |

Ans

Question ID :99700224
Chosen Option : 2
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X 1. T8 F U Y RE FH GRT BT §
X 2 FHA I W AHUF @ B

Vo BHA IS ¥ FH @ AT §
X o Roper off GRT T @ &

Q6 frepsit 3 PEM 3o F=finines it meww R 1 &0 & Fwor @ §2

Question ID :9970024
Ans r 0 m m Chosen Option : 4
X 2. FIT FEEEIE
X3 FHT
V' g9rde dR Fefersge =t
a7 m;if’;f;jﬁngfﬂf“m R & Question ID 199700236
Ans X n i Chosen Option : 3
X 2 i Fog HelcHd
X 3. WEpIcS FEeHd
V' 4 TT AgeRT
Y I AR T 9TgY Tl 2T 27 Question ID 199700223
Ans x 1 g Chosen Option : 4
A2 ST
v o fEET
X 4 FgE0T
Q9 v sRAT wEuw e (IM) T # 2 TF & R # Question ID : 89700235
Ans X 1. E}H&T Chosen Option : 2
v o TEAF
A 3. FrToTHY
F 3 ERIGEI
10 ' : e
Q10 reiRrarer # =Rt F AEaTd $r T F FaT AT & Ouestion ID : 9970026
Ans X - EIB?r T ﬂ?T Chosen Option : 2
X 2 AfAF a7 FT TgaT
X o TR
v i TS
M g Fua I TEEE| Question ID ;99700218
Chosen Option : 3
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Question ID :
Chosen Option :

99700221
2

Q.13 sRa 1 ST § AT e % T Uegadr §uy & onfie @ & fav e ICS S
T FER FREE = e &

AT 1 FETSr gy &
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Question ID

Chosen Option
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Ans
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X o fgager Fr uzwT F T
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Question ID

Chosen Option

19970025
14

Q.15 2011 Fr TN & ATER FeT B 7 30T FAT FAEEA F F ARG H FAAEEA et §2

At K11 3mE @ O =
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Question ID

Chosen Option

199700219
14

A6 SoRRT & & Fi9 @ = iRe BEd T8 2
Ans x1;|‘\a-

VR =i

X 5 HUTH

X 4 Frr

Question ID :

Chosen Option

99700229
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Q.17 Feis a5 AaiE 3R vhnr 9% 3w Rt ot @ BafRE F ¥ v & A st
Hmey 3 sEm A e A T S R A S w b

Ans «1. tﬁ' Eaﬁm

X 2. Far HerersT
X 3 27 g

Question ID

Chosen Option

199700231
12
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&< 4 3T HIEe
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Ans

v T T
X 2. FTErET
X 5. Rreaerrlr

X 4 EITHETAT ST

Question ID : 99700237
Chosen Option : 2

Q19 gzt s amE F TR ¥ 3 T HR oRE F sES I FT 9

Question ID : 9970027

Ans x 1. H9eA Chosen Option :1
=
A2 aEe
v
A4 rfreReT
Q.20 Which of the following is the correct sequence of the smallest to the largest unit of storage size

(read from left to right)?

Question ID :99700239

Ans 3 4 kilo - mega - giga - peta - tera Chosen Option -3
< 2. kilo — mega - peta - tera - giga
« 3 kilo - mega - giga - tera - peta
/< 4. mega - tera - giga - kilo - peta

Q.21 sfae @fedr Aed & 9 g7l sUTeufs o= W= & v 399 = © §) 98 =+

Question ID :99700233

e 17
Ans 1. e Chosen Option : 4
X2 T
X 3. ograr
v i eE
Q22

Ans

Growth of GDP is an indicator of our economy. GDP stands for:
/< 1. Gross Domestic Progress
& 2. Gross Domestic Promotion

< 3. General Domestic Production
v % Gross Domestic Product

Question ID : 99700214
Chosen Option : 4

Q.23

Ans

I FEfaE 1 IF F A F Aqes F 3o w9 7 Yow A A awr @ d o

ST B FE R 8
<118
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X373
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Question ID :99700225
Chosen Option :1
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Ans

=i

X 1. greTeTs AT
X 2. FETCHAT TH. &. TmefT

Question ID :99700212
Chosen Option : 2
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Ans

SRS FHER % a1 frea o Aegs # 3w @ T e
v gy &R

X2 mfdg @

K o s Tt

K4 & oo, . AR

Question ID
Chosen Option

199700220
12

Q.26

Ans

Which one of the following is not a software?

& 1. MS Word
< 2. Excel

& 3. Windows
v 4 Thumb drive

Question ID

Chosen Option :

199700238

4

Q.27
Ans

T fFrEd s R T aea 3 TR Firas R f o s 2

X 1. AR TeRr
X2 |mE

Vi TaE ATF
& 4 SFAEAES TTET

Question ID

Chosen Option :

199700234

1

Q.28

Ans
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X o T AT e

Question ID :
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Chosen Option
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Ans
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v . BIET T AN
X 2. FaATET
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X4 e

Question ID

Chosen Option

199700232
1

Q.30

Ans

Rerd & & T TqUA T ST e & S F S
X . FT 3% H% sEar ffes 73 T
X 2 Ju= e, deEr

v o e e 8 Rfes, g=3

X 4. yrEey fafeee, soerar

Question ID
Chosen Option
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:3
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Q.31

¥ § O gew 9 FiT o 72

Question ID : 9970028
Chosen Option : 3

Ans X1. Ila;.ﬁ'a_
X2 FrAEe
v 5 FTag
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Ans
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X3 TS ForeT
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Question ID : 99700210
Chosen Option : 2

Q.33

Ans
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X 3 HAA
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Question ID :99700215
Chosen Option : 2

Q.34

Ans
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Vv e
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X3 T g F HewsT

X 4 afafwe

Question ID :99700227
Chosen Option : 3

.35 . '
Q STAT F AHF & 3T FiF T F0T STV & Question ID :9970022
Ans - Chosen Option : 4
X 1. el FEld
X 2. g 3R seEee
X 3. ol FolFld
v o diee 3R FgEa
Q.36 # dar W AN F BT v g Fwar § AN 9F a9w AT 9w 1 S § oaw e o .
Question ID :9970021
ECu .
Ans Chosen Option : 3
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Q.37

Ans

It is projected that exports graph of India will steadily go upward for next few years. Such a boost in
exports is expected due to present:

X 1. easy availability

Question ID : 99700217
Chosen Option : 2

« 2. Foreign Trade Policy

< 3. craze for Indian stuff
< 4. cost efficiency

Q.38

Ans

gAY 297 &F 2 T=AT T T &
X1 oy

Question ID : 99700222
Chosen Option : 3
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v TEEE
X 4 HTEST

Q.39

Ans
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X 1. FOTEARY

Question ID : 99700230
Chosen Option : 2
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Q.40

Ans
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Question ID :9970023
Chosen Option : 1

X 2 @ &EmT
/< 3. 9rEToT
v i ST

Section : Mental ability

Q1

Ans

o vF Bed & 3w F 150% ﬁrﬂﬁzoo%aﬁrqﬁﬁmﬁ,ﬁmﬁmﬁ
& e §1 aeaRe e E

Question ID : 99700260
Chosen Option : 3

X1_i
X 2.
v &)

K4

Wl =l O~ =
ik

Q.2

Ans

ofE 345 = 60 TUT 246 = 48 &, @r 572 = ?
v 1. 70

Question ID : 99700258
Chosen Option : 1

X214
X3 75
X4 37
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Q.3 w Rezmerr # e V F 4 fanr §| s st affe afenst & afore e & ] ]
FER A Ao 7 fodr o § Question ID :99700256

Chosen Option :2

FFsTET oTE & dEar
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H AT | aEared | qfenst A | F sedor
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Ans Chosen Option : 3
1.
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X 4 ofyms
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o R T, A & 3 I gE € Question ID :99700248
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X2 g
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Q.7 crr & E ampty &, frger, RrfEEh =7 e & oo, SwhEmet o i & qo g ]
gt F gl ¥ T & e st & TE et B wear & we a1 f Question ID : 99700241
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Question ID :99700245
Chosen Option : 2
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Question ID : 99700257
Chosen Option : 3
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Question ID : 99700244
Chosen Option :3
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Question ID :99700247
Chosen Option : 4
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A9 7 e & AR F, O AT 9 00 F W F = off 99 9w 7 79 F G
#r T ar?
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Question ID : 99700254
Chosen Option : 4
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& grfi AT & wE S o oW # weflw § A @ ow 97 997 &) Reedt A ¥ o
g I HfSw]

Question ID :99700250
Chosen Option :3

FHKO : UQNL : : BCEH : ?

Ans X 1. WTRP
X 2. YXVS
v'3 YVTS
X 4 YURP

Q14 iz 7#5 &7 377 72+ 5 FuT 6+4 T 3T 6 - 42 ¥, A 30-5#0 FT AT FOT &7

Ans X114

Question ID : 99700243
Chosen Option : 2

v 2 28
X3 8
X434

Q.15 ¥ v TEem & S B & vF gee ¥ o9 dwa € el e %
HftFeT TeET 3R Hfewd 3R 3T § A e B S B # guR & F BT
A FEAw I, A GUR TG FH A1 ATF T F 0 FEW 37w a9 FAT @ wEA 87

Question ID :99700252
Chosen Option : 1

Ans x1.

FER &7 ¥ 39 =T @ At sewt #r s TfRsRT & aEag
< 2.
WIETI A # 39 Aioreaar # FHr FE|
X 3.
s FE e & 1 e 3 e S B o BeET A8 |
v
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Question ID :99700251
Chosen Option : 3

A X1 9F 9 F gEERR ¥ 98 o &
X2 98 F TF qEE SE 9 o &
Vo T8 S AT & TRET FA A JT &
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QA7 T=ffET e 4Eer & T W & B 9o fed F e | #a @ gem sme
1, 3, 7, 15 31, ?

Ans X 1. 85

Question ID : 99700246
Chosen Option : 4

X 2. 47
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v 63
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Question ID :99700242
Chosen Option :1

X
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X 4
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st o 1 e

Question ID :99700255
Chosen Option : 4
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A 12 13 15 20
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L& 18 12 22 18
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2t TNt & et et F sl wiaes fRw e w2
Ans XL A
X2D
Vs C
X4+ B
Q20 2/0.000726= ? Question ID : 99700259
Ans x 1. 0.009 Chosen Option : 4
<209
< 3.0.003
v+ 0.09

Section : Reasoning

Q1 o iy afFr ww= § B dR FER A §) R e g ofer & s # L AR ® SR : )
ST TR 2 Question ID :99700272

Chosen Option : 2

Ans X1- 3_:&

v 2 s
X s S3T

X 4 w&T

Q2 R a3y Fua F7 FT T FFT TIY ST RE F quT T 82 Question ID :99700275

“‘Danger” always involves Chosen Option : 1

Ans o 1 fear
X 2. attack
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X 3. suddenness

X 4 help
G @ el & T 3T A P @ e 87 Question ID 199700265
Ans Chosen Option : 2

X1

W2

K3

<X

Q4 o wEfEal Fw B AR AE FF vE g9 & HER A 38 g8 ¥ Raeh, e F e .
ardt 3T 48 g6 31 s, R s e & A & 48 g R, R & wwew ol Question ID : 99700271
3T 38 7§ §) e ¥ vwew ol A AT #rgs Chosen Option :4

Ans o1 frorr
X2 BT
X 3. AT
v R

Q5 frafafas & @, #iF O ey BU o et ¥ gay 35w gEa 37

L Question ID : 99700266
HH, I, HA®S

Chosen Option : 3

Ans oy AT
X 2 &
V3 o
X 4 g

Q6 g i . : :
fer 71v Rear & ¥ gafog =T FT =399 F1 Question ID : 99700263

7:32:-19:7% Chosen Option :2

Ans X182
v'2 80
X 3 91
X 4 97

Q7
Question ID : 99700279

Chosen Option : 4
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Ans
r 8 O
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O
v
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Q8 fviw Ffew fF Fi7 1 7F F 7@ Fy= F 3N #F 7T 7
HYA:
FAT S ETeT T T FETEET ST YUmET # 9NT # ueaned ROT ST amee?
b
I | AT AT W IE e SO # eI e
Il. 2N T HTH F41 F¥ off =47 & # Heg +aT 2l
. & o ey &9 & o Al 8§, 559 3Eear 9 S $7 & e

Ans

X 1. %A F | A=Ed gl

X2 aa a& | 3R & A= 2
v o Fae a5 1l AR I & #seg 2
X 4wl A=EA g

Question ID : 99700276
Chosen Option : 3

Q9 &1 RT 7w g F @ g 3w # v GfFew veR @ wafow ) e # ¥ 3w
STEE-TATeT FT I Y T F oreg S U 9N ¥ W § W wew et #r Aw
e wEfea £
FqErcumr i ?
Ans &
A1 FET :oaT
X 2. AT : A
CA i v~
K 4 HFEA - QT

Question ID :99700261
Chosen Option : 4

Q10 37 3w & ggwe & A RY Y @t & e wddees wew gefer
7, g, o«

(@

Ans

Question ID : 99700278
Chosen Option : 2
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&

<4

AN Foafafle eral & gl & @ Fla @1 30w A= e & Bww 32 Question ID :99700264
Ans o, e Chosen Option :3

X2 fhem : Téw

v & 'ﬁé‘ : &=t

X 4 HEER : "eH
Q12

FIT T TEAHAT FT WAE e AT H HAT 87

Question ID :99700267
Chosen Option : 2

Ans X 1.6 ,3 2
X29.3.3
V8.3 4
X4+6,1,6

Q13

Ans

fow v et F ¥ v T T F AT FL, ST ST F I HE
130, 117, 102, 85, ?, 45

v 1 66
X 2 69
X3 37
X 4 68

Question ID : 99700268
Chosen Option :1

Q.14

Ans

& % Fo F aEA #, fra 9§ e giF vee 6§ wig gid A 4 R
35742964369536984396924069437697691

X118
X2 4
V35
X486

Question ID : 99700269
Chosen Option :3

Q.15

Ans

& T Rl # F 3W 0 LA HA T 0 oeg F o F FF vF W w@w
FE FATAT T TR B
ORGANISATION

v 1. STATION
X 2. NATION
X 3 RING

X 4 STAR

Question ID : 99700270
Chosen Option : 1

Q.16
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a’ ITT H@ﬁ' " ICRCRELE] %—7 Question ID :99700280

Chosen Option : 1

Ars 1. 23 1 3R
X 2. 20
X316
X412

Q17 v Rdw = s &, ‘BLEACH' &7 ‘CKFZDG' f3mar =T &, 3@r smar & ‘NUMBER' #r .
o g forar smem? Question ID :99700274

Ans x 1. MVLCDS Chosen Option :3

X 2. OVNCFS
V'3 OTNAFQ
X 4 OTNFQA

Q.18 e IX & ar Ramtt & ware gftem & | v R F 20 Rt 7 stww 9w 80% i
Sreer R STt 2@y R & 30 it ¥ shwa 9 70% ST R e IX & A Question ID : 99700273
Rt & Remnf¥at & swa 95 ¥ 27 Chosen Option : 3

Ans X 1. 72%
X 2. 76%
V'3 74%
X 4 78%

Q19w AE FoE Fr ATEAA FA FO A AT GF T Fuw w@r E AR
foraror #ifew fF #ia & T afes &7 Fa @1 § AgEr &
L2 CH

Question ID : 99700277
Chosen Option : 4

it FgT awE 2

FT AT TS #
Tt wEifETt ARt #
s
I Fo At aee
Il Fo g Fg gl
. Fo wgfEar wgw #
Ans
XK 1. Faer |l HFJHIOT FIA g
X 2 wae |l 3R I HFFET F 2
X 3 Faer |l HFEIOT FIAT F
¢ I | HTEROT FIAT B
Q.20 & 9&R ‘Surplus’ ¥ ‘Deficit T & 38 9T ‘Profit, ¥ meleT 8 Question ID - 99700262
Ans ?( 1. Secure Chosen Option :3

X 2. Success
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X 3. Gain
v % Loss

Section : Computer Science

Q1

Ans

Which of the following statements about GPS is false?

K1

It is a space-based satellite navigation system

< 2. It stand for Global Positioning System
W 3

It stands for Global Position Synchronization

K4

It is the backbone for modernizing the global air traffic system. weather. and location services

Question ID : 997002138
Chosen Option : 3

Q.2

Ans

Which of the following is a sequential access memory?
' 1. Magnetic tape
X 2. DVD
X 3. RAM
X 4. ROM

Question ID : 99700283
Chosen Option : 1

Q3

Ans

Which of the following statements is false?

K1

Rolling back the entire transaction erases all of its save points.

X2

Rolling back the entire transaction reverses all of its changes.

v

Rolling back the entire transaction does not end the transaction.

K4

Rolling back the entire transaction releases any transaction locks.

Question ID :997002104
Chosen Option : 1

Q4 . ; s :
What is the meaning of HTML ‘vlink” attribute? Question ID : 997002140
Ans ( 1. visited link Chosen Option :3
& 2. active link
& 3. virtual link
& 4. vertical link
Q5 faffem & & Fia o S SoTer (e fEA), MS-DOS W e gv e wqor

32-f 37Er 64-FT FA9 1 FAYA Fr §?

Question ID :997002115
Chosen Option : 2

Ans X 1. f¥eieT 95
X 2. e Aeafeas gene=
X 3. fFEe 98
v i EE XP
Q.6 Inwhich of the following network topologies, failure of one node can disturb the whole network?

Ans

X 1. Tree
X 2. Bus
+ 3 Ring

Question ID :997002123
Chosen Option : 3
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X 4. Mesh

Q7

Ans

Which of the following is a composite attribute?
& 1. Gender
< 2. Number of dependents
< 3 Age
v 4. Date of birth

Question ID
Chosen Option

199700298
12

Qs

Ans

The Gray code of decimal 3 is:

&< 1. 0110
X 2. 1001
v 3 0010
X 41100

Question ID :
14

Chosen Option

997002147

Q9

Ans

The minimum font-size of a text in MS-Word can be:

X110
Vo1
X305
X4 2

Question ID

Chosen Option

1997002107
:3

Q.10

Ans

Which of the following is a weighted code?
& 1. Excess-3
v 2. BCD
< 3. Gray
4. Both BCD and Excess-3

Question ID

Chosen Option

1997002146
14

Q11
Ans

The model followed by the e-commerce sites which facilitate online shopping of products and services is:

v 1. B2C
X 2. B2B
X 3. B2G
X 4 C2B

Question ID :
1

Chosen Option

997002130

Q12

Ans

The 15°s compliment of the Hexadecimal number (A01);g is:
X 1. (6E0)16
X 2. (6EE)6
X 3. (5F0)16
v 4 (5FE)¢

Question ID
Chosen Option

199700292
12

Q13

Ans

In order to store a matrix, weneed  dimensional array.
&< 1. three
v 2. two
X 3. four
& 4. one

Question ID

Chosen Option

1997002160
12

Q.14
Ans

‘Which of the following logic gates outputs 0 when the input values are different?

< 1. XOR

Question ID
Chosen Option

1997002143
:3
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X 2. OR
X 3. NAND
v 4 XNOR

Q.15 Which of the following class of IP addressing is used for multicasting? )
Question ID :997002121

Ans x 1. Class C Chosen Option : 1

' 2. Class D
< 3. Class A
X 4. Class B

Q.16 Which of the following is not a valid level in the ANSI-SPARC three-level architecture of DBMS?

A - Question ID :997002101
ns o 1. Administrator level

Chosen Option : 1

& 2. External level
X 3. Conceptual level

< 4. Internal level

Q17 Address 220.50.50.10 belongs to: Question ID :997002119
Ans X 1. Class A Chosen Option : 2

v 2 Class C

X 3 Class B

K 4 Class D

Q.18 Number of links in a fully-connect Mesh topology network of n nodes is: )
Question ID :997002124

Ans f 1. n(n—1)2 Chosen Option : 2

X2 nn+1)2
K3n
X4n-1

Q.19 Which of the following memory is also called ‘primary’ memory or ‘main’ memory?

Ans

) Question ID : 99700288
x 1. Flash memory Chosen Option :3

/X 2. Memory stick
v 5 RAM
X 4 Hard disk

Q20 Sfafea & ¥ #ia w1 Ry, ST & s om7 = 32 Question ID :997002134
Ans x 1 m ﬁ IqeTeerar il' mﬁﬂ' Chosen Option :3

X 2. gHOT 3Tele
v o ReawEar 7 I
X 4. AT FIA hr giaer

Q.21 The size (number of cells) of an array having row indices as 0 to n and colunm indices as 0 to mis:

; Question ID :997002154
Ans X' 1. n+m+2

Chosen Option : 2

X2nXm
x3- n-+-m

v i @+ 1D(m+1)
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Q.22

Ans

o aEe & & @i o1 Fee Th-SIreeT N7 ST T ST &7
X1 fEEr

X 2. grEr-=r e

Vo e

X 4 TataaT

Question ID :997002125
Chosen Option : 3

Q.23

Ans

Which of the following is a non-linear data structure?
« 1. Graph
< 2. Linked List
< 3. Queue
X 4 Armray

Question ID :997002151
Chosen Option :1

Q.24
Ans

Which of the following categories of computers uses microprocessor?
' 1. Fourth generation computers
/< 2. Third generation computers
/< 3. First generation computers

/< 4. Second generation computers

Question ID :99700281
Chosen Option :1

Q.25

Ans

The equivalent Boolean expression of A'B” + AB” + A'B is:
X 1. AB’
X 2 AB
X3 A+B
via+B

Question ID : 997002144
Chosen Option : 2

Q.26
Ans

The size (number of cells) of the k-map to simplify a Boolean function f{A. B, C, D, E) of five variables is:
v 32
X26
X316
X4 8

Question ID :997002141
Chosen Option :1

Q.27

Ans

Which of the following is not a Web browser?
/< 1. Internet Explorer
' 2. MapReduce

X 3. Mozilla Firefox
X 4 Chrome

Question ID :997002128
Chosen Option : 2

Q.28

Ans

Which of the following is not an application software?
& 1. MS-Word

/< 2. MS-Access

X 3. Notepad

' 4. Operating system

Question ID : 99700282
Chosen Option : 4

Q.29

Ans

NAND e & F1a $r 91T g =g7aa fhaer NOR iz & saeaear asar ¥ (srifa,
NAND ¢ wfée & wam &9)?

Question ID :997002142
Chosen Option : 2
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X1
xX23
v 4
X4 2

Q.30 Which of the following CPU registers is used to store values for ALU operations?
Question ID :99700295

A
ns o 1 Accumulator Chosen Option : 1

7< 2. Program counter
X 3. Index register
/< 4. Instruction register

Q31 Which of the following is a weak entity? Question ID 997002100
Ans x 1. Book Chosen Option :2

v 2. Edition

/3. Author

/< 4. Publisher

Q.32 . i ; g
Number of Half Adders required to build a Full Adder is: Question ID : 997002145
Ans x 1. 3 Chosen Option :1

X25
v 2
X 44

Q33 g & HETeT U (AT EA) fate
i ( i g Question ID :997002112

Ans x 1. ﬁa; 0s X Chosen Option :1

X 2. 0S/2

X3 @@ 7

v 4 Unix
Q34 The length of TPv6 addresses is bits. Question ID 997002116
Ans X 1. 32 Chosen Option : 1

X2 16

v 128

X 4 64
Q35 HTML is a: Question ID :997002129
Ans "1 scripting language Chosen Option :3

< 2. low-level language
< 3. programming language
< 4. machine language

Q.36 What will be the sequence of numbers. if the following operations are performed on a Queue?
push(9), pop(). push(5), push(7), pep(). pop(). push(8). pop() Question ID :997002157
' Ch Option : 4
Ans x 1. 5’ 7, 8.9 osen Option

X 209587
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X3 8.7.5,0
V49578

Q.37
Ans

Almost the entire code of UNIX operating system is written in
vicC
& 2. Pascal
X5 C++
X 4. Fortran

programming language.

Question ID
Chosen Option

1997002111
1

Q.38

Ans

Electronic clearance and electronic filing are the examples of:

v i B2G
X 2 B2C
X 3. C2C
X 4 B2B

Question ID
Chosen Option

1997002132
14

Q.39

Ans

Which of the following is a DDL command in Oracle?

& 1. Delete
< 2. Update
& 3. Select
W 4. Drop

Question ID

Chosen Option :

1997002103

1

Q.40
Ans

‘Which of the following offers a line of credit (i.e., a loan)that is interest-free if the monthly bill is paid on time?

v . Credit card
< 2. Debit card
< 3. Chequebook

< 4. Both debit and credit cards

Question ID
Chosen Option

1997002135
1

Q41

Ans

Which of the following statements about Queue is false?

< 1. It follows first in, first out policy.

< 2. It can be implemented using array.

' 3 It can’t be implemented using linked list.

X 4. Tt is a linear data structure.

Question ID

Chosen Option

1997002158
:3

Q.42

Ans

The 8’s complement of the Octal number (6100)g is:

X 1. (6100)g
v 2. (1700)g
X 3 (1677
X 4. (2700)g

Question ID
Chosen Option

199700291
12

Q43

Ans

An impact printer prints characters using:

< 1. ink pen

& 2. laser beam

3. inked ribbon and print head
< 4. electrically charged ink

Question ID
Chosen Option

199700293
:3

file:///C:/Users/ajay/Downloads/Qp%20(1).html
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Q.44

Ans

The sum of the binary numbers 10011 and 11101 is:
< 1.10001

Question ID
Chosen Option

199700286
12

X 2. 10000
< 3. 11000
v 4110000

Q45

Ans

UTF-8 uses up to byte(s) for non-ASCII characters.

X 18

Question ID

Chosen Option

1997002113
1

v 4
X3
K42

Q.46

Ans

Which of the following is not a characteristic of embedded system?

/< 1. Reactive and real time

Question ID :
:3

Chosen Option

997002139

v 2. Multi-functioned
X 3. Single-functioned
< 4. Tightly constrained

Q47

Ans

‘What will be the sequence of numbers. if the following operations are performed on a Stack?
push(s). push(7), pop(). push(8). push(6). pop(). pop(). pop()

X 1.58.67

Question ID :
:3

Chosen Option

997002156

X2 7.6.58
X36,7.8,5
w4 7685

Q.48
Ans

‘Which of the following is similar to personal cheques. but feasible for very small transactions?

X 1. ATM

Question ID

Chosen Option

1997002133
12

V' 2 E-cash
X 3. Debit card
X 4 Credit card

Q.49
Ans

‘Which of the following menu items will be used to convert table to text in MS-Word?

X 1. Edit

Question ID
Chosen Option

1997002108
1

< 2. Tools
v 3. Table
/< 4. Format

Q.50

Ans

(AO)s - (BA)s F UarT T AT &
v 1 (36)16

Question ID
Chosen Option

199700289
1

X 2 (46)15
X 5. (63)

<4 (30)16

16

Q.51
Ans

The density of the innermost track of a hard disk is the density of the outermost track.

< 1. equal to

Question ID :
Chosen Option :

99700294
2

2. higher than



https://applink.adda247.com/d/XhqWf9lSap

X 3. lower than or equal to

X 4 lower than

Q.52

Ans

The default subnet mask for Class B IP addresses is:
X 1. 255.0.255.0

X 2. 0.0.255.255

v 3. 255.255.0.0

X 4. 255.255.255.0

Question ID
Chosen Option

1997002117
4

Q.53

Ans

T=ET ¥ FiF ¥ %27, 279 SO0 9g # §AYT T 87
v

FIE F THT TI0AT FTON H FIT F F, W w7 7 A 7
X 2. FHAT FETH TSI ITSHI0N T FI=T
K3

rraTita BSFTar #1 3Ef F S FFoEr STl W 92w T
< 4

FEH & T F FA FA AT TGFT FEA FSRT T F AT FT

Question ID

Chosen Option :

1997002136

2

Q.54

Ans

The size of ‘checksum’ in TCP protocol header is bits.
v 16
X2 8
X 3. 32
X4 4

Question ID

Chosen Option :

1997002120

1

Q.55

Ans

Considering the size of ‘float” variable as four bytes. if base address of an array of float is 100. then the
address of 4% cell is:

X 1. 116
X2 104
&< 3400
v 112

Question ID

Chosen Option

1997002155
4

Q.56

Ans

The number of different symbols used in Octal number system is:
K14
V28
X316
X4 2

Question ID :
12

Chosen Option

99700284

Q.57

Ans

The Excess-3 code of decimal 3 is:
& 1. 1000
X 2. 1010
v 3. 0110
& 4. 0001

Question ID :
:3

Chosen Option

997002148

Q.58

Ans

Which of the following is a disadvantage of mobile computing?
< 1. Enhanced productivity
V' 2. Security

X 3. Entertainment
/< 4. Portability

Question ID

Chosen Option :

1997002137

1
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Q59 Unixisa operating system.

Ans X 1. multiuser and single tasking

Question ID

Chosen Option

1997002114
4

X 2. single user and single tasking
X 3. single user and multitasking
' 4. multiuser and multitasking

Q60 Ap IP address prefixed with 1110 is address.
Ans X 1. Class C

Question ID :
4

Chosen Option

997002122

X 2 Class B
V' 3 Multicast
X 4. Class A

T oLx =fEar T F T AT B
Ans of 1. C2C

Question ID

Chosen Option

1997002131
4

X 2 B2G
< 3 B2B
X 4.B2C

Q.62 Ms-PowerPoint # TaBs ot I et F v Trafaf@a # & fa v ot (v $)
T 9ERT AT ST HehT 27

ans X1 F3

Question ID

Chosen Option :

1997002110

3

X2 F2
v': F5
X 4 F12

Q.63 The first octet higher order bits for class D IP addresses is:
Ans 1. 110

Question ID :
12

Chosen Option

997002118

v 2 1110
X 3 1111
X 4100

Q.64 Which of the following key combinations can be used in the Windows version of the
MS-Word to insert current time?

Ans o1 Alt+ Ctrel +t

Question ID

Chosen Option

1997002106
1

X2 Alt+t
< 3. Shift +t
4 Alt + Shift +t

Q65 Which of the following is a sequential circuit?

Ans (1. Binary Adder

Question ID
Chosen Option

1997002150
4

& 2. Decoder
« 5 Register
2 4 Multiplexer

Q66 Which of the following is a single-valued attribute?

file:///C:/Users/ajay/Downloads/Qp%20(1).html

Question ID

199700299

24127
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Ans

# 1. Bank account

X 2. E-mail id

/< 3. Telephone number
v 4. Gender

Chosen Option :1

Q.67

Ans

Number of different ternary arrays (an array in which each cell can store either 0. 1, or 2 is called ternary
array) of order n x n is:

X 13
v 2. 3o
X 3 5n
X4 30

Question ID : 997002153
Chosen Option : 3

Q.68

Ans

The acronym of NCP used in ARPANET is:

' 1. Network Control Protocol
/< 2. National Coalition Program

< 3. Network Coalition Program

/< 4. National Coalition Protocol

Question ID :997002127
Chosen Option : 1

Q.69

Ans

Microsoft SQL Server is a:
K1

Object-oriented database management system
/< 2. Network database management system
« 5 Relational database management system

/< 4. Hierarchical database management system

Question ID : 99700297
Chosen Option :1

Q.70

Ans

Which of the following data retrieval policy is followed by Queue?
2 1. First in. Last out
~ 2. Random
' 3. First in. First out
7 4. Last in, First out

Question ID :997002152
Chosen Option : 3

Q.71

Ans

Key constraint states that:

K1

a table can’t have more than one candidate keys

K2
a table can’t have both primary key and foreign key

< 3. the value of foreign key can’t be null
v

the value of primary key must be unique in all tuples

Question ID :997002105
Chosen Option : 4

Q.72

Ans

Which of the following search engines is not multilingual?
v . Baidu
& 2. Yahoo!
X 3. Bing

Question ID :997002126
Chosen Option :1
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X 4. Google

Q73 The 2’s compliment of the binary number 101110 is: Question ID - 99700290

Ans (1_ 010010 Chosen Option :1
< 2. 010100
X 3011100
X 4111101

Q74 According to DeMorgan’s theorem: Question ID 997002149
Ans x 1. Chosen Option :3
a NAND gate is equivalent to negative-AND (inverted AND) gate
X 2.
a NOR gate is equivalent to negative-OR (inverted OR) gate
/< 3. aNAND gate is equivalent to NOR gate

v

a NAND gate is equivalent to negative-OR (inverted OR) gate

Q75 i i i ?
Which of the following statements about Array is false? Question ID 997002159
Ans x 1. Chosen Option :2

Tt requires allocated memory blocks to be consecutive.

W2

A single array can store both integer and float (real) values.

K3

It can be used to implement Stack and Queue.

X 4 Tt is a linear data structure.

Q.76 In flowchart, the diamond-shaped symbol (used to represent conditional statements) have:
Question ID :99700287

Ans X 1. two incoming lines and two outgoing lines Chosen Option : 1

/< 2. one incoming line and one outgoing line
+ . one incoming line and two outgoing lines

/< 4. two incoming lines and one outgoing line

Q77 - R s 2
Which of the following is a database management system? Question ID : 99700296

Ans 1 Hadoop Chosen Option :4
< 2. MapReduce
X 3. MS-Word
W 4 Ingres

Q78 Binary equivalent of the Decimal number 121 is: Question ID - 99700285

Ans (1_ 1111001 Chosen Option :1
< 2. 1000001
X 3 1111111
& 41001111

Q.79 Which of the following menu items in MS-PowerPoint contains the ‘AutoCorrect” option?

A ; Question ID : 997002109
ns
x 1. Format Chosen Option : 4
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X 2. Animation
v 3. Tools
X 4 View

Q.80 Which of the following shapes is used in ER diagram to represent weak entity? .
Question ID :997002102

Ans 1. Oval (solid line) Chosen Option :2

< 2. Oval (dashed line)
' 3. Rectangle (double solid line)
/< 4. Rectangle (single solid line)
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